e ST LT

g, 2T Y g mvn A

DY D Y R EE T

(07 W) = {00 Wy = 0 O Bk

0="q+D+A4°g+xy
Ho='d+'D+4'g +x'VIH J i
‘T ETE A —

E )¢ ELLY]

2l 7 B

"¢ CHL

€'¢ §




aﬁmbau
qvi="u

ﬁO aﬁﬁbaﬁma
”N
a+29 P
+dg +x°
XY 11

0="'a
+ 2!
D+ 4
% m 4+ R;\ o I
) g '
WWW_WAN.RL.QW&lAN.RLN&N ﬂ: 4
] &WEHEE_N o |
E@NM@W%KE
{H A
it i
" N
B 3¢ [Hl 7




(4 C <
a v
gy S XY (O
@ e ND~D|_| Nm~m+ Nv\ﬁv\ —= N.NNI_I ~§ Aﬁv
c N2,
YEx7 %08 B 2 H o Bl [l ZEA
AR va\\/ (Ot g+ Nﬁv\\/ —_
OO+ g'g+ Y| +=
%mOOHHAN.RL.RvaOO

BT <7 W 2 B | e B 2k




LS

= 509

& [ [ e
.c\w\(mcou._&n%mh@_m ‘ L HYH, @n&_

s Nﬁ\/ . NQIV Tt NQIV\/
[€XT-IXT+0xT—|

U

=00 (1)

0=0—-20+47+xy—  ‘0=1+2-4-x7 (¢)
0=1—-27—-47+xp—  ‘0=1-2+4+4-x7 (7)
0=1-2¢+4  ‘0=1+2-4d7+x— (]
EXEN A MERR L A% L




0=7—-20+47+xp— ‘O=1+2-d-x7 (¢)
SEVHLAEAM s D 3 TD M -
fp - T v-
< B |H = =
] e

k=" g ="u
0=1-20—-d7+xp—  0=1-2+4-x7 (7)



9N g (€-)+ .9+ ¢}

L |p-1xe-0x9+0xg|

p

. €— 9 ¢
‘U /U <= = =
R B A |
(€-9¢)=‘u“(1-°¢'r) = 'u
LA S FH A MY
S HIM Y =2¢-49+Xx¢ T+A7+x =2
0l 4B T (14}




